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��� ��� 01.07.2012�������� 21,25  ��� ��� 01.04.2012�������� 20,72  ���
��� 01.01.2012�������� 20,13  ��� ��� 01.10.2011�������� 19,52  ��� ���
01.07.2011�������� 19,20  ��� ��� 01.04.2011�������� 18,65  ��� ���
01.01.2011�������� 18,09  ��� ��� 01.10.2010�������� 17,81  ��� ���
01.07.2010�������� 17,66  ��� ��� 01.04.2010�������� 17,09  ��� ���
01.01.2010�������� 16,97  ��� ��� 01.10.2009�������� 16,78  ��� ���
01.07.2009�������� 16,53  ��� ��� 01.05.2009�������� 16,51 
<h3>���������(����</h3>  <table style="width: 698px; height: 210px;" border="1"
cellspacing="0" cellpadding="0">    <tr>  <td width="34">  <p><br /> <br /> <br /></p>  </td> 
<td width="54">  <p align="center"><strong>����</strong></p>  </td>  <td width="63">  <p
align="center"><strong>����</strong></p>  </td>  <td width="38">  <p
align="center"><strong>��</strong></p>  </td>  <td width="53">  <p
align="center"><strong>���</strong></p>  </td>  <td width="38">  <p
align="center"><strong>��/strong></p>  </td>  <td width="41">  <p
align="center"><strong>��</strong></p>  </td>  <td width="41">  <p
align="center"><strong>��</strong></p>  </td>  <td width="49">  <p
align="center"><strong>���</strong></p>  </td>  <td width="67">  <p
align="center"><strong>�����</strong></p>  </td>  <td width="61">  <p
align="center"><strong>����</strong></p>  </td>  <td width="53">  <p
align="center"><strong>����</strong></p>  </td>  <td width="60">  <p
align="center"><strong>����</strong></p>  </td>  <td width="46">  <p
align="center"><strong>����/strong></p>  </td>  </tr>  <tr>  <td width="34">  <p
align="center"><strong>2000</strong></p>  </td>  <td width="54">  <p
align="center">104,6</p>  </td>  <td width="63">  <p align="center">103,3</p>  </td>  <td
width="38">  <p align="center">102,0</p>  </td>  <td width="53">  <p align="center">101,7</p>
 </td>  <td width="38">  <p align="center">102,1</p>  </td>  <td width="41">  <p
align="center">103,7</p>  </td>  <td width="41">  <p align="center">99,9</p>  </td>  <td
width="49">  <p align="center">100,0</p>  </td>  <td width="67">  <p align="center">102,6</p>
 </td>  <td width="61">  <p align="center">101,4</p>  </td>  <td width="53">  <p
align="center">100,4</p>  </td>  <td width="60">  <p align="center">101,6</p>  </td>  <td
width="46">  <p align="center">125,8</p>  </td>  </tr>  <tr>  <td width="34">  <p
align="center"><strong>2001</strong></p>  </td>  <td width="54">  <p
align="center">101,5</p>  </td>  <td width="63">  <p align="center">100,6</p>  </td>  <td
width="38">  <p align="center">100,6</p>  </td>  <td width="53">  <p align="center">101,5</p>
 </td>  <td width="38">  <p align="center">100,4</p>  </td>  <td width="41">  <p
align="center">100,6</p>  </td>  <td width="41">  <p align="center">98,3</p>  </td>  <td
width="49">  <p align="center">99,8</p>  </td>  <td width="67">  <p align="center">100,4</p> 
</td>  <td width="61">  <p align="center">100,2</p>  </td>  <td width="53">  <p
align="center">100,5</p>  </td>  <td width="60">  <p align="center">101,6</p>  </td>  <td
width="46">  <p align="center">106,1</p>  </td>  </tr>  <tr>  <td width="34">  <p
align="center"><strong>2002</strong></p>  </td>  <td width="54">  <p
align="center">101,0</p>  </td>  <td width="63">  <p align="center">98,6</p>  </td>  <td
width="38">  <p align="center">99,3</p>  </td>  <td width="53">  <p align="center">101,4</p> 
</td>  <td width="38">  <p align="center">99,7</p>  </td>  <td width="41">  <p
align="center">98,2</p>  </td>  <td width="41">  <p align="center">98,5</p>  </td>  <td
width="49">  <p align="center">99,8</p>  </td>  <td width="67">  <p align="center">100,2</p> 
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</td>  <td width="61">  <p align="center">100,7</p>  </td>  <td width="53">  <p
align="center">100,7</p>  </td>  <td width="60">  <p align="center">101,4</p>  </td>  <td
width="46">  <p align="center">99,4</p>  </td>  </tr>  <tr>  <td width="34">  <p
align="center"><strong>2003</strong></p>  </td>  <td width="54">  <p
align="center">101,5</p>  </td>  <td width="63">  <p align="center">101,1</p>  </td>  <td
width="38">  <p align="center">101,1</p>  </td>  <td width="53">  <p align="center">100,7</p>
 </td>  <td width="38">  <p align="center">100,0</p>  </td>  <td width="41">  <p
align="center">100,1</p>  </td>  <td width="41">  <p align="center">99,9</p>  </td>  <td
width="49">  <p align="center">98,3</p>  </td>  <td width="67">  <p align="center">100,6</p> 
</td>  <td width="61">  <p align="center">101,3</p>  </td>  <td width="53">  <p
align="center">101,9</p>  </td>  <td width="60">  <p align="center">101,5</p>  </td>  <td
width="46">  <p align="center">108,2</p>  </td>  </tr>  <tr>  <td width="34">  <p
align="center"><strong>2004</strong></p>  </td>  <td width="54">  <p
align="center">101,4</p>  </td>  <td width="63">  <p align="center">100,4</p>  </td>  <td
width="38">  <p align="center">100,4</p>  </td>  <td width="53">  <p align="center">100,7</p>
 </td>  <td width="38">  <p align="center">100,7</p>  </td>  <td width="41">  <p
align="center">100,7</p>  </td>  <td width="41">  <p align="center">100,0</p>  </td>  <td
width="49">  <p align="center">99,9</p>  </td>  <td width="67">  <p align="center">101,3</p> 
</td>  <td width="61">  <p align="center">102,2</p>  </td>  <td width="53">  <p
align="center">101,6</p>  </td>  <td width="60">  <p align="center">102,4</p>  </td>  <td
width="46">  <p align="center">112,3</p>  </td>  </tr>  <tr>  <td width="34">  <p
align="center"><strong>2005</strong></p>  </td>  <td width="54">  <p
align="center">101,7</p>  </td>  <td width="63">  <p align="center">101,0</p>  </td>  <td
width="38">  <p align="center">101,6</p>  </td>  <td width="53">  <p align="center">100,7</p>
 </td>  <td width="38">  <p align="center">100,6</p>  </td>  <td width="41">  <p
align="center">100,6</p>  </td>  <td width="41">  <p align="center">100,3</p>  </td>  <td
width="49">  <p align="center">100,0</p>  </td>  <td width="67">  <p align="center">100,4</p>
 </td>  <td width="61">  <p align="center">100,9</p>  </td>  <td width="53">  <p
align="center">101,2</p>  </td>  <td width="60">  <p align="center">100,9</p>  </td>  <td
width="46">  <p align="center">110,3</p>  </td>  </tr>  <tr>  <td width="34">  <p
align="center"><strong>2006</strong></p>  </td>  <td width="54">  <p
align="center">101,2</p>  </td>  <td width="63">  <p align="center">101,8</p>  </td>  <td
width="38">  <p align="center">99,7</p>  </td>  <td width="53">  <p align="center">99,6</p> 
</td>  <td width="38">  <p align="center">100,5</p>  </td>  <td width="41">  <p
align="center">100,1</p>  </td>  <td width="41">  <p align="center">100,9</p>  </td>  <td
width="49">  <p align="center">100,0</p>  </td>  <td width="67">  <p align="center">102,0</p>
 </td>  <td width="61">  <p align="center">102,6</p>  </td>  <td width="53">  <p
align="center">101,8</p>  </td>  <td width="60">  <p align="center">100,9</p>  </td>  <td
width="46">  <p align="center">111,6</p>  </td>  </tr>  <tr>  <td width="34">  <p
align="center"><strong>2007</strong></p>  </td>  <td width="54">  <p
align="center">100,5</p>  </td>  <td width="63">  <p align="center">100,6</p>  </td>  <td
width="38">  <p align="center">100,2</p>  </td>  <td width="53">  <p align="center">100,0</p>
 </td>  <td width="38">  <p align="center">100,6</p>  </td>  <td width="41">  <p
align="center">102,2</p>  </td>  <td width="41">  <p align="center">101,4</p>  </td>  <td
width="49">  <p align="center">100,6</p>  </td>  <td width="67">  <p align="center">102,2</p>
 </td>  <td width="61">  <p align="center">102,9</p>  </td>  <td width="53">  <p
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align="center">102,2</p>  </td>  <td width="60">  <p align="center">102,1</p>  </td>  <td
width="46">  <p align="center">116,6</p>  </td>  </tr>  <tr>  <td width="34">  <p
align="center"><strong>2008</strong></p>  </td>  <td width="54">  <p
align="center">102,9</p>  </td>  <td width="63">  <p align="center">102,7</p>  </td>  <td
width="38">  <p align="center">103,8</p>  </td>  <td width="53">  <p align="center">103,1</p>
 </td>  <td width="38">  <p align="center">101,3</p>  </td>  <td width="41">  <p
align="center">100,8</p>  </td>  <td width="41">  <p align="center">99,5</p>  </td>  <td
width="49">  <p align="center">99,9</p>  </td>  <td width="67">  <p align="center">101,1</p> 
</td>  <td width="61">  <p align="center">101,7</p>  </td>  <td width="53">  <p
align="center">101,5</p>  </td>  <td width="60">  <p align="center">102,1</p>  </td>  <td
width="46">  <p align="center">122,3</p>  </td>  </tr>  <tr>  <td width="34">  <p
align="center"><strong>2009</strong></p>  </td>  <td width="54">  <p
align="center">102,9</p>  </td>  <td width="63">  <p align="center">101,5</p>  </td>  <td
width="38">  <p align="center">101,4</p>  </td>  <td width="53">  <p align="center">100,9</p>
 </td>  <td width="38">  <p align="center">100,5</p>  </td>  <td width="41">  <p
align="center">101,1</p>  </td>  <td width="41">  <p align="center">99,9</p>  </td>  <td
width="49">  <p align="center">99,8</p>  </td>  <td width="67">  <p align="center">100,8</p> 
</td>  <td width="61">  <p align="center">100,9</p>  </td>  <td width="53">  <p
align="center">101,1</p>  </td>  <td width="60">  <p align="center">100,9</p>  </td>  <td
width="46">  <p align="center">112,3</p>  </td>  </tr>  <tr>  <td width="34">  <p
align="center"><strong>2010</strong></p>  </td>  <td width="54">  <p
align="center">101,8</p>  </td>  <td width="63">  <p align="center">101,9</p>  </td>  <td
width="38">  <p align="center">100,9</p>  </td>  <td width="53">  <p align="center">99,7</p> 
</td>  <td width="38">  <p align="center">99,4</p>  </td>  <td width="41">  <p
align="center">99,6</p>  </td>  <td width="41">  <p align="center">99,8</p>  </td>  <td
width="49">  <p align="center">101,2</p>  </td>  <td width="67">  <p align="center">102,9</p>
 </td>  <td width="61">  <p align="center">100,5</p>  </td>  <td width="53">  <p
align="center">100,3</p>  </td>  <td width="60">  <p align="center">100,8</p>  </td>  <td
width="46">  <p align="center">109,1</p>  </td>  </tr>  <tr>  <td width="34">  <p
align="center"><strong>2011</strong></p>  </td>  <td width="54">  <p
align="center">101,0</p>  </td>  <td width="63">  <p align="center">100,9</p>  </td>  <td
width="38">  <p align="center">101,4</p>  </td>  <td width="53">  <p align="center">101,3</p>
 </td>  <td width="38">  <p align="center">100,8</p>  </td>  <td width="41">  <p
align="center">100,4</p>  </td>  <td width="41">  <p align="center">98,7</p>  </td>  <td
width="49">  <p align="center">99,6</p>  </td>  <td width="67">  <p align="center">100,1</p> 
</td>  <td width="61">  <p align="center">100,0</p>  </td>  <td width="53">  <p
align="center">100,1</p>  </td>  <td width="60">  <p align="center">100,2</p>  </td>  <td
width="46">  <p align="center">104,6</p>  </td>  </tr>  <tr>  <td width="34">  <p
align="center"><strong>2012</strong></p>  </td>  <td width="54">  <p
align="center">100,2</p>  </td>  <td width="63">  <p align="center">100,2</p>  </td>  <td
width="38">  <p align="center">100,3</p>  </td>  <td width="53">  <p align="center">100,0</p>
 </td>  <td width="38">  <p align="center">99,7</p>  </td>  <td width="41">  <p
align="center">99,7</p>  </td>  <td width="41">  <p align="center">99,8</p>  </td>  <td
width="49">  <p align="center">99,7</p>  </td>  <td width="67">  <p align="center">1,001</p> 
</td>  <td width="61">  <p align="center">1,000</p>  </td>  <td width="53">  <p
align="center">99,9</p>  </td>  <td width="60">  <p align="center">100,2</p>  </td>  <td
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width="46">  <p align="center">99,8</p>  </td>  </tr>  <tr>  <td><strong>2013</strong></td> 
<td style="text-align: center;">100,2</td>  <td style="text-align: center;">99,9</td>  <td
style="text-align: center;"></td>  <td style="text-align: center;"></td>  <td style="text-align:
center;"></td>  <td style="text-align: center;"></td>  <td style="text-align: center;"></td>  <td
style="text-align: center;"></td>  <td style="text-align: center;"></td>  <td style="text-align:
center;"></td>  <td style="text-align: center;"></td>  <td style="text-align: center;"></td>  <td
style="text-align: center;"></td>  </tr>    </table>  <p><strong>��� �����/strong>, �� ���
�, <strong>��� �������� ��/strong> � �����, ����������������
������� ��� ��� ����, ������������ �� ����������������.</p> 
<p>�</p>  <p style="text-align: left;">�</p>  <p style="text-align: left;">�</p>  <p
style="text-align: left;"><span style="font-size: medium;"><a
href="http://zakon.rada.gov.ua/"><span style="font-family: 'Times New Roman';">����� ��
����</span></a></span></p>  <p style="text-align: left;"><span style="font-size:
medium;"><a href="http://www.spfu.gov.ua" target="_blank"><span style="font-family: 'Times
New Roman';">�� �������� ���������</span></a></span></p>  <p
style="text-align: left;"><span style="font-size: medium;"><a href="http://www.bank.gov.ua"
target="_blank"><span style="font-family: 'Times New Roman';">���������
����</span></a></span></p>  <p style="text-align: left;"><span style="font-size:
medium;"><a href="http://www.ukrstat.gov.ua" target="_blank"><span style="font-family: 'Times
New Roman';">����������������� ����</span></a></span></p>  <p
style="text-align: left;"><span style="font-size: medium;"><a
href="http://www.minregionbud.gov.ua" target="_blank"><span style="font-family: 'Times New
Roman';">������ ������� ���� �������� ����</span></a></span></p>  <p
style="text-align: left;"><span style="font-size: medium;"><a href="http://finance.ua"
target="_blank"><span style="font-family: 'Times New Roman';">���� ����, ��� ���
����, ��� ������� ��������</span></a></span></p>  <p style="text-align:
left;"><span style="font-size: medium;"><a href="http://www.uto.com.ua" target="_blank"><span
style="font-family: 'Times New Roman';">����� ����������</span></a></span></p> 
<p style="text-align: left;"><span style="font-size: medium;"><a
href="http://upvs.kwinto.ru/interpr.php?link=_1111113.htm" target="_blank"><span
style="font-family: 'Times New Roman';">���� 
����������������������������� ������  �� ����� ��������, �
����� � 1 ���� 1972�  (������ ���)</span></a></span></p>  <p style="text-align:
left;"><span style="font-size: medium;"><a href="http://www.vikno.com.ua"
target="_blank"><span style="font-family: 'Times New Roman';">�������
�����������</span></a></span></p>  <h1 style="text-align: left;"><strong><span
style="font-size: 12pt; font-family: 'Times New Roman';">������ ��:</span></strong></h1>
 <p style="text-align: left;"><span style="font-size: medium;"><a
href="http://zakon1.rada.gov.ua/cgi-bin/laws/main.cgi?nreg=2658-14&p=1290262695889641"
target="_blank"><span style="font-family: 'Times New Roman';">������� �
2658-III���12.07.2001</span><span style="font-family: 'Times New Roman';">
���������� ���� �� � ����������������� �����
</span></a></span></p>  <p style="text-align: left;"><span style="font-size: medium;"><a
href="http://zakon1.rada.gov.ua/cgi-bin/laws/main.cgi?nreg=1440-2003-%EF&p=129026269588
9641" target="_blank"><span style="font-family: 'Times New Roman';">������ 10 ����
2003 � N 1440 </span>�������� ������ �����N 1 "������� ��������

 4 / 5



����

Автор: Super Administrator
15.12.2010 16:24 - Обновлено 11.03.2013 16:23

���� ��"</a></span></p>  <p style="text-align: left;"><span style="font-size: medium;"><a
href="http://zakon1.rada.gov.ua/cgi-bin/laws/main.cgi?nreg=1442-2004-%EF&p=129026269588
9641" target="_blank">������ 28 ��� 2004 � N 1442 �������� ������
�����N 2 " ��������� ���</a></span></p>  <p style="text-align: center;"><span
style="font-size: medium;"><a
href="http://zakon1.rada.gov.ua/cgi-bin/laws/main.cgi?nreg=1891-2003-%EF&p=129026269588
9641" target="_blank">������ 10 ��� 2003 � N 1891 ��������� ����
�������/a></span></p>   <a title="Volvo"
href="http://electric-autos.info/category/volvo">Volvo</a>  <a title="Gionee GN9005 ��
������ ��� �����"
href="http://it-stream.ru/android/gionee-gn9005-stal-samym-tonkim-v-mire-smartfonom.html">Gi
onee GN9005 �� ������ ��� �����</a></li> 
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